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QUESTION 1

What are three characteristics of the TCP protocol? (Choose three.) 

A. It uses a single SYN-ACK message to establish a connection. 

B. The connection is established before data is transmitted. 

C. It ensures that all data is transmitted and received by the remote device. 

D. It supports significantly higher transmission speeds than UDP. 

E. It requires applications to determine when data packets must be retransmitted. 

F. It uses separate SYN and ACK messages to establish a connection. 

Correct Answer: BCF 

 

QUESTION 2

Which two values must you specify to define a static route? (Choose two) 

A. next-hop address or exit interface 

B. incoming interface 

C. source network and mask 

D. administrative distance of the route 

E. destination network and mask 

Correct Answer: AD 

 

QUESTION 3

Which statement about access lists that are applied to an interface is true? 

A. You can place as many access lists as you want on any interface. 

B. You can apply only one access list on any interface. 

C. You can configure one access list, per direction, per Layer 3 protocol. 

D. You can apply multiple access lists with the same protocol or in different directions. 

Correct Answer: C 

We can have only 1 access list per protocol, per direction and per interface. It means: 

+ We cannot have 2 inbound access lists on an interface + We can have 1 inbound and 1 outbound access list on an
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interface 

 

QUESTION 4

Which three statements about HSRP operation are true? (Choose three.) 

A. The virtual IP address and virtual MA+K44C address are active on the HSRP Master router. 

B. The HSRP default timers are a 3 second hello interval and a 10 second dead interval. 

C. HSRP supports only clear-text authentication. 

D. The HSRP virtual IP address must be on a different subnet than the routers\\' interfaces on the same LAN. 

E. The HSRP virtual IP address must be the same as one of the router\\'s interface addresses on the LAN. 

F. HSRP supports up to 255 groups per interface, enabling an administrative form of load balancing. 

Correct Answer: ABF 

The virtual MAC address of HSRP version 1 is 0000.0C07.ACxx, where xx is the HSRP group number in hexadecimal
based on the respective interface. For example, HSRP group 10 uses the HSRP virtual MAC address of
0000.0C07.AC0A. HSRP version 2 uses a virtual MAC address of 0000.0C9F.FXXX (XXX: HSRP group in
hexadecimal). 

 

QUESTION 5

Refer to the exhibit. 

An administrator pings the default gateway at 10.10.10.1 and sees the output as shown. At which OSI layer is the
problem? 

A. data link layer 

B. application layer 

C. access layer 

D. session layer 

E. network layer 
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Correct Answer: E 

The command ping uses ICMP protocol, which is a network layer protocol used to propagate control message between
host and router. The command ping is often used to verify the network connectivity, so it works at the network layer. 
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